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ARBTH BB E T 2% TRk 25%
48 | 5B | 6A | 7A | 88 | 9B (10 | 1A | 12B | 1A | 2R | 3R

ABRATRAR |EFRKR ABIEBAH () 30 31 29 31 27 23 31 30 31 31 28 31
I E B (BRE)| 715| 736 | 697 | 735| 668| 548 | 735| 711| 735( 734| 663 | 733
AFEyE (ppm) | 0.003 | 0.003 | 0.003 | 0.005 | 0.003 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.002
1BFRRED0. 1ppm&E B 2 1B FHI 2K (BFED) 0 0 0 0 0 0 0 0 0 0 0 0
B EHEA0.04ppmZEFEZ - A H (8 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) | 0.019 | 0.021 | 0.012 [ 0.013 | 0.013 | 0.007 | 0.012 | 0.007 | 0.005 | 0.012 | 0.009 | 0.011
BESEORSIE (ppm) | 0.006 | 0.008 | 0.005 | 0.009 | 0.004 | 0.003 | 0.004 | 0.003 | 0.002 | 0.003 | 0.003 | 0.007

AR |[EA/hER AhBIE B (B 30 31 30 31 31 30 31 30 31 31 26
7 B (BER)| 717 741 717 739 742 715 741 | 718| 739 | 742 | 649
AFE (ppm) | 0.006 | 0.006 | 0.006 | 0.007 | 0.005 | 0.005 | 0.004 | 0.004 | 0.003 | 0.004 | 0.003 |-
1858 fEHY0.1ppmZ#B 2 T HFREI 3K (B5 R 0 0 0 0 0 0 0 0 0 0 0 |-
B FEEA0.04ppmZEHEZ = B HK q=)] 0 0 0 0 0 0 0 0 0 0 0 |-
1FHEORSE (ppm) | 0.020 | 0.019 | 0.015 | 0.023 | 0.013 | 0.015 | 0.013 | 0.011 | 0.008 | 0.012 | 0.010 |-
BEHEORSIE (ppm) | 0.011 | 0.010 | 0.009 | 0.014 | 0.007 | 0.009 | 0.007 | 0.005 | 0.005 | 0.006 | 0.006 |-

RERTIHTER | e R & AT AEDAEBH (2) 30 31 30 31 31 30 30 30 31 31 27 31
I E B (B¥RE)| 716 | 742 717 742 740 717| 730| 717| 738 741 | 62| 735
AFEyfE (ppm) | 0.005 | 0.006 | 0.006 | 0.008 | 0.007 | 0.008 | 0.004 | 0.002 | 0.002 | 0.003 | 0.003 | 0.005
1B REMEDN0. 1 ppmZE B X f=BE R 45 (BFfED) 0 0 0 0 0 0 0 0 0 0 0 0
B FEH{EH0.04ppmE B R - B H (B 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.020 | 0.028 | 0.025 | 0.032 | 0.022 | 0.025 | 0.015 | 0.013 | 0.015 | 0.013 | 0.024 | 0.026
BEMEORSE (ppm) | 0.011 | 0.012 | 0.010 [ 0.015 | 0.010 | 0.013 | 0.007 | 0.004 | 0.004 | 0.006 | 0.007 | 0.013




(10) = E LB D ARRIERE R

OB H HERE B B TR M R
4A | 5B | 6B | 7A | 8A | 9A | 10A | 11A [ 12B | 1A | 2A | 3A
RIRHRER | FRE/NER ABIEBAH (8 30 31 30 31 31 30 31 29 31 31 28 31
I E B (BERE)| 716 742 715 741 | 741 | 714| 737| 708| 737 742| 65| 739
AEyiE (ppm) | 0.006 | 0.007 | 0.006 | 0.008 | 0.006 | 0.005 | 0.004 | 0.004 | 0.004 | 0.004 | 0.004 | 0.006
1BFRRED0. 1ppm&E B 2 1B FHI 2K (BFED) 0 0 0 0 0 0 0 0 0 0 0 0
B EHEA0.04ppmZEFEZ - A H (8 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) | 0.036 | 0.026 | 0.035 | 0.022 | 0.020 | 0.019 | 0.017 | 0.017 | 0.019 | 0.027 | 0.029 | 0.030
BESEORSIE (ppm) | 0.013 | 0.015 | 0.012 | 0.015 | 0.010 | 0.008 | 0.010 | 0.008 | 0.006 | 0.011 | 0.009 | 0.014
RIREEEII R | e 2R AREBH (8) 30 31 30 31 31 30 31 30 31 31 28 31
I TE B (BERE)| 718 | 742 | 713| 741 | 741 | 718 | 738| 717| 740| 742| 664 | 738
AFEiE (ppm) | 0.005 | 0.006 | 0.005 | 0.006 | 0.004 | 0.004 | 0.004 | 0.003 | 0.003 | 0.003 | 0.003 | 0.005
1EERAMEHY0. 1ppmZEF B X f=FER 4L (B 0 0 0 0 0 0 0 0 0 0 0 0
B EEA0.04ppmZEHEZ =B HK (B 0 0 0 0 0 0 0 0 0 0 0 0
1R EEORSIE (ppm) | 0.026 | 0.031 | 0.020 | 0.018 | 0.014 | 0.011 [ 0.014 | 0.011 [ 0.012 | 0.013 | 0.017 | 0.021
BEHEORSIE (ppm) | 0.011 | 0.011 | 0.010 [ 0.011 | 0.007 | 0.007 | 0.008 | 0.006 | 0.005 | 0.005 | 0.007 | 0.011
KRBRATENRX | BN X &FT ABIEBAH (/) 30 31 30 31 31 30 31 30 31 31 12 31
I E B (BERE)| 718 742 717| 741 742 716| 741| 716| 740 742| 312 739
AEyiE (ppm) | 0.005 | 0.005 | 0.005 | 0.006 | 0.004 | 0.004 | 0.004 | 0.003 | 0.003 | 0.003 | 0.003 | 0.005
1EFRRED0. 1ppm&E B 2 1= BFFHI 2K (BFED) 0 0 0 0 0 0 0 0 0 0 0 0
B EHEA0.04ppmZEHEZ 1= A H (8 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) | 0.019 | 0.026 | 0.017 | 0.021 | 0.013 | 0.011 | 0.015 | 0.014 | 0.010 | 0.013 | 0.011 | 0.018
BEYEOESE (ppm) | 0.009 | 0.010 | 0.007 | 0.012 | 0.005 | 0.007 | 0.008 | 0.006 | 0.005 | 0.006 | 0.005 | 0.011
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OB H HERE B B TR M R
4A | 5B | 6B | 7A | 8A | 9A | 10A | 11A [ 12B | 1A | 2A | 3A
KRR EEF K | B LU 4R ABIEBAH () 30 31 30 31 31 28 31 30 31 31 28 31
I E B (BERE)| 718 742 717| 741| 740| 691 | 740| 717| 740 | 743 | 669 | 735
AEyiE (ppm) | 0.005 | 0.006 | 0.005 | 0.006 | 0.004 | 0.004 | 0.005 | 0.004 | 0.004 | 0.004 | 0.004 | 0.006
1BFRRED0. 1ppm&E B 2 1B FHI 2K (BFED) 0 0 0 0 0 0 0 0 0 0 0 0
B EHEA0.04ppmZEFEZ - A H (8 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) | 0.025 | 0.026 | 0.018 | 0.017 | 0.012 | 0.013 | 0.020 | 0.010 | 0.013 | 0.028 | 0.016 | 0.024
BESEORSIE (ppm) | 0.011 | 0.014 | 0.009 | 0.013 | 0.007 | 0.008 | 0.011 | 0.007 | 0.006 | 0.008 | 0.007 | 0.014
ARFER | KEFHFERK AhBIE B (B 30 31 30 31 31 30 31 30 30 31 28 31
B TE B R (BeRE)| 718 741 | 717 | 741 | 742 716 | 742 718 | 727 | 736 | 665 | 738
RFiE (ppm) | 0.004 | 0.005 | 0.004 | 0.004 | 0.004 | 0.006 | 0.004 | 0.003 | 0.003 | 0.003 | 0.003 | 0.005
1EERAMEHY0. 1ppmZEF B X f=FER 4L (B 0 0 0 0 0 0 0 0 0 0 0 0
B EEA0.04ppmZEHEZ =B HK (B 0 0 0 0 0 0 0 0 0 0 0 0
1R EEORSIE (ppm) | 0.017 | 0.018 | 0.016 | 0.013 | 0.018 | 0.014 | 0.015 | 0.012 [ 0.007 | 0.012 | 0.010 | 0.019
BEHEORSIE (ppm) | 0.008 | 0.009 | 0.006 | 0.010 | 0.006 | 0.009 | 0.008 | 0.005 | 0.004 | 0.005 | 0.006 | 0.012
ABRAEEREK |2 B /NER ABIEBAH (2) 30 31 30 31 31 30 31 30 31 31 28 31
I E B (BERE)| 718 741 717| 741 | 742 716| 740| 718| 740| 742| 668 739
AEyiE (ppm) | 0.005 | 0.005 | 0.005 | 0.008 | 0.009 | 0.008 | 0.004 | 0.003 | 0.003 | 0.004 | 0.003 | 0.005
1EFRRED0. 1ppm&E B 2 1= BFFHI 2K (BFED) 0 0 0 0 0 0 0 0 0 0 0 0
B EHEA0.04ppmZEHEZ 1= A H (8 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) | 0.021 | 0.019 | 0.014 | 0.023 | 0.023 | 0.024 | 0.014 | 0.010 | 0.008 | 0.017 | 0.011 | 0.016
BEYEOESE (ppm) | 0.009 | 0.010 | 0.008 | 0.016 | 0.012 | 0.013 | 0.008 | 0.005 | 0.004 | 0.006 | 0.006 | 0.012
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HBTH AR E B T 2% TRk 25%

4A | 5B | 6B | 7A | 8A | 9A | 10A | 11A [ 12B | 1A | 2A | 3A

RIRAHEZIR F TN ABIEBAH () 30 31 30 31 31 28 31 30 31 31 28 30
I E B (BERE)| 718 742 717| 742| 740| 692| 740| 718| 737 739 | 667 735

AFEyE (ppm) | 0.006 | 0.006 | 0.005 | 0.007 | 0.004 | 0.005 | 0.005 | 0.005 | 0.004 | 0.005 | 0.005 | 0.007

1BFRRED0. 1ppm&E B 2 1B FHI 2K (BFED) 0 0 0 0 0 0 0 0 0 0 0 0

B EHEA0.04ppmZEFEZ - A H (8 0 0 0 0 0 0 0 0 0 0 0 0

1FEEORSE (ppm) | 0.030 | 0.028 | 0.019 | 0.020 | 0.013 | 0.014 | 0.022 | 0.015 | 0.010 | 0.039 | 0.028 | 0.028

BESEORSIE (ppm) | 0.012 | 0.015 | 0.009 | 0.014 | 0.006 | 0.008 | 0.012 | 0.008 | 0.006 | 0.008 | 0.008 | 0.016

KR FEEFX | B RER AREBH (8) 30 31 30 31 31 30 31 30 30 31 28 31
I TE B (BERE)| 717| 742 717| 741 | 737| 716 740| 717 | 732| 743 | 668| 737

AFEiE (ppm) | 0.006 | 0.007 | 0.006 | 0.008 | 0.004 | 0.005 | 0.004 | 0.004 | 0.003 | 0.004 | 0.004 | 0.006

1EERAMEHY0. 1ppmZEF B X f=FER 4L (B 0 0 0 0 0 0 0 0 0 0 0 0

B EEA0.04ppmZEHEZ =B HK (B 0 0 0 0 0 0 0 0 0 0 0 0

1R EEORSIE (ppm) | 0.035 | 0.021 | 0.018 | 0.022 | 0.012 | 0.013 | 0.018 | 0.011 [ 0.012 | 0.012 | 0.012 | 0.019

BEHEORSIE (ppm) | 0.013 | 0.012 | 0.010 | 0.015 | 0.007 | 0.007 | 0.009 | 0.006 | 0.005 | 0.006 | 0.006 | 0.013

ABRMTHEKE | S5 ERER ABIEBAH (2) 30 31 30 31 31 30 31 30 31 31 28 31
I E B (BERE)| 718 742 717 742 741 | 717| 741| 715| 740| 742| 668 | 736

AFEyE (ppm) | 0.006 | 0.006 | 0.005 | 0.007 | 0.004 | 0.004 | 0.005 | 0.004 | 0.004 | 0.004 | 0.003 | 0.006

1EFRRED0. 1ppm&E B 2 1= BFFHI 2K (BFED) 0 0 0 0 0 0 0 0 0 0 0 0

B EHEA0.04ppmZEHEZ 1= A H (8 0 0 0 0 0 0 0 0 0 0 0 0

1FEEORSE (ppm) | 0.029 | 0.025 | 0.023 | 0.018 | 0.015 | 0.021 | 0.020 | 0.018 | 0.015 | 0.027 | 0.017 | 0.023

BEYEOESE (ppm) | 0.012 [ 0.015 | 0.011 | 0.012 | 0.007 | 0.008 | 0.010 | 0.007 | 0.007 | 0.010 | 0.007 | 0.014
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HBTH AR E B T 2% TRk 25%
4A | 5B | 6B | 7A | 8A | 9A | 10A | 11A [ 12B | 1A | 2A | 3A
KEHER | AER/NER ABIEBAH (2 30 31 30 26 23 25 31 30 31 31 27 31
I E B (BERE)| 718 | 741 | 713| 48| 567 | 614| 740| 718| 737 742| 65| 737
AEiE (ppm) | 0.005 | 0.005 | 0.005 | 0.007 | 0.005 | 0.004 | 0.003 | 0.003 | 0.003 | 0.004 | 0.003 | 0.005
1B RRED0. 1ppm&E B 2 F= B FHI 2K (BFED) 0 0 0 0 0 0 0 0 0 0 0 0
B EHEA0.04ppmZEFEZ - A H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1HEEORSIE (ppm) | 0.018 | 0.022 | 0.024 | 0.023 | 0.015 | 0.012 | 0.014 | 0.014 | 0.015 | 0.026 | 0.016 | 0.024
BESEDRSIE (ppm) | 0.009 | 0.012 | 0.008 | 0.010 | 0.008 | 0.007 | 0.006 | 0.006 | 0.005 | 0.008 | 0.006 | 0.012
KRR KX | REIL/NER AREBH (8) 30 31 30 31 31 30 31 30 31 31 28 30
I TE B (BRRE)| 718| 742 717| 742| 740| 715| 740| 715| 740| 742| 670| 733
AFEiE (ppm) | 0.004 | 0.005 | 0.004 | 0.005 | 0.003 | 0.004 | 0.004 | 0.003 | 0.003 | 0.003 | 0.004 | 0.005
1EERAMEHY0. 1ppmZEF B X f=FER 4L (B 0 0 0 0 0 0 0 0 0 0 0 0
B EEA0.04ppmZEHEZ =B HK (B 0 0 0 0 0 0 0 0 0 0 0 0
1R EEORSIE (ppm) | 0.014 | 0.015 [ 0.017 | 0.013 [ 0.010 | 0.011 [ 0.015 | 0.008 | 0.007 | 0.013 | 0.013 | 0.015
BEHEORSIE (ppm) | 0.008 | 0.010 | 0.007 | 0.011 | 0.005 | 0.007 | 0.007 | 0.005 | 0.004 | 0.005 | 0.006 | 0.012
RERMEZIR | hRAR ABIEBAH (2) 30 31 30 31 31 30 31 30 31 31 28 31
I E B (BERE)| 717 737 712 742 740 713 739| 717| 737| 743| 663 | 734
AEyiE (ppm) | 0.008 | 0.007 | 0.006 | 0.005 | 0.005 | 0.005 | 0.005 | 0.005 | 0.005 | 0.006 | 0.006 | 0.008
1EFRRED0. 1ppm&E B 2 1= BFFHI 2K (BFED) 0 0 0 0 0 0 0 0 0 0 0 0
B EHEA0.04ppmZEHEZ 1= A H (8 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) | 0.035 | 0.028 | 0.022 | 0.016 | 0.016 | 0.017 | 0.022 | 0.015 | 0.018 | 0.022 | 0.025 | 0.033
BEYEOESE (ppm) | 0.018 [ 0.015 | 0.011 | 0.007 | 0.008 | 0.009 | 0.010 | 0.009 | 0.008 | 0.011 | 0.010 | 0.016
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HBTH AR E B T 2% TRk 25%
4A | 5B | 6B | 7A | 8A | 9A | 10A | 11A [ 12B | 1A | 2A | 3A
RTATIRX LHF ABIEBAH (2 30 31 30 31 31 30 31 30 31 31 27 31
I E B (BRE)| 715| 737 715| 739 | 736 | 716| 739 | 712| 739| 740 657 | 740
AFEyfE (ppm) | 0.008 | 0.009 | 0.009 | 0.009 | 0.006 | 0.006 | 0.006 | 0.005 | 0.006 | 0.007 | 0.007 | 0.009
1B RRED0. 1ppm&E B 2 F= B FHI 2K (BFED) 0 0 0 0 0 0 0 0 0 0 0 0
B EHEA0.04ppmZEFEZ - A H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) | 0.029 | 0.026 | 0.033 | 0.029 | 0.030 | 0.025 | 0.020 | 0.015 | 0.019 | 0.024 | 0.042 | 0.039
BESEDRSIE (ppm) | 0.014 | 0.015 | 0.013 [ 0.017 | 0.008 | 0.009 | 0.009 | 0.008 | 0.008 | 0.009 | 0.013 | 0.019
RHAER EF BHAEBAH q=)) 30 31 30 31 31 30 31 30 31 31 28 31
B TE B R (BeRE)| 715 739| 714 737| 738 | 715| 738 | 714 | 740 | 740| 665 | 740
RFiE (ppm) | 0.007 | 0.008 | 0.008 | 0.009 | 0.006 | 0.006 | 0.005 | 0.005 | 0.005 | 0.005 | 0.005 | 0.006
1EERAMEHY0. 1ppmZEF B X f=FER 4L (B 0 0 0 0 0 0 0 0 0 0 0 0
B EEA0.04ppmZEHEZ =B HK (B 0 0 0 0 0 0 0 0 0 0 0 0
1R EEORSIE (ppm) | 0.058 | 0.039 | 0.036 | 0.056 | 0.031 | 0.027 | 0.022 | 0.028 | 0.025 | 0.026 | 0.029 | 0.022
BEHEORSIE (ppm) | 0.017 | 0.013 | 0.012 [ 0.016 | 0.009 | 0.008 | 0.009 | 0.007 | 0.007 | 0.007 | 0.007 | 0.012
R Az ABIEBAH q=)) 30 31 30 31 31 29 31 30 31 31 28 31
I E B (B¥RS)| 716 738| 716 | 740| 734 711 | 739 | 713 | 740 | 741 | 666 | 736
AEiE (ppm) | 0.009 | 0.010 | 0.010 | 0.010 | 0.006 | 0.006 | 0.006 | 0.005 | 0.005 | 0.006 | 0.007 | 0.009
1B RRED0. 1ppm&E B 2 1= B FHI 2K (BEFED) 0 0 0 0 0 0 0 0 0 0 0 0
BT EA0.04ppmE B A 1= B E (8 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) | 0.080 | 0.051 | 0.075 | 0.065 | 0.035 | 0.028 | 0.026 | 0.014 | 0.020 | 0.031 | 0.029 | 0.090
BEYEOESE (ppm) | 0.020 | 0.016 | 0.028 | 0.018 | 0.009 | 0.010 | 0.010 | 0.008 | 0.007 | 0.010 | 0.010 | 0.021
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OB H HERE B B TR M R
4A | 5B | 6B | 7A | 8A | 9A | 10A | 11A [ 12B | 1A | 2A | 3A
Rt & ABIEBAH (| 30 31 30 31 31 30 31 30 31 31 28 31
I E B (B¥RE)| 716 739 715| 740| 736 | 715| 738 | 713| 740| 740 665| 740
AEiE (ppm) | 0.007 | 0.008 | 0.007 | 0.008 | 0.005 | 0.005 | 0.005 | 0.004 | 0.004 | 0.005 | 0.004 | 0.006
1B RRED0. 1ppm&E B 2 F= B FHI 2K (BFED) 0 0 0 0 0 0 0 0 0 0 0 0
B EHEA0.04ppmZEFEZ - A H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) | 0.056 | 0.025 | 0.028 | 0.027 | 0.022 | 0.022 | 0.017 | 0.012 | 0.010 | 0.016 | 0.022 | 0.021
BEHBEORSE (ppm) | 0.014 | 0013 [ 0.011 | 0.014 | 0.008 | 0.007 | 0.009 | 0.006 | 0.005 | 0.007 | 0.007 | 0.013
RATRX =% AMREBH q=)) 30 31 30 31 31 30 31 30 31 31 28 31
I B (BeR)| 715 738 | 715 739 | 737 | 715| 739 | 712 | 739 | 740| 667 | 739
RFiE (ppm) | 0.009 | 0.009 | 0.008 | 0.009 | 0.006 | 0.007 | 0.006 | 0.006 | 0.006 | 0.007 | 0.006 | 0.009
1EERAMEHY0. 1ppmZEF B X f=FER 4L (B 0 0 0 0 0 1 0 0 0 0 0 0
B EEA0.04ppmZEHEZ =B HK (B 0 0 0 0 0 0 0 0 0 0 0 0
1R EEORSIE (ppm) | 0.041 | 0.034 | 0.025 | 0.026 | 0.054 | 0.112 [ 0.047 | 0.017 | 0.017 | 0.020 | 0.039 | 0.043
BEHEORSIE (ppm) | 0.016 | 0.016 | 0.013 [ 0.016 | 0.008 | 0.017 | 0.013 | 0.009 | 0.007 | 0.010 | 0.012 | 0.021
RmmX E0E ADAEAH (8 30 31 30 31 31 30 31 30 31 31 28 31
I E B (B¥RS)| 713 | 738| 716 736 | 738 | 716 | 738 | 714| 740 | 740 | 666 | 740
AEHE (ppm) | 0.005 | 0.006 | 0.005 | 0.005 | 0.004 | 0.004 | 0.004 | 0.003 | 0.003 | 0.003 | 0.004 | 0.005
1B RRED0. 1ppm&E B 2 1= B FHI 2K (BEFED) 0 0 0 0 0 0 0 0 0 0 0 0
BT EA0.04ppmE B A 1= B E (8 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) | 0.019 | 0.018 | 0.013 | 0.016 | 0.011 | 0.011 | 0.016 | 0.008 | 0.007 | 0.010 | 0.010 | 0.015
BEYEOESE (ppm) | 0.010 | 0.009 | 0.008 | 0.009 | 0.006 | 0.006 | 0.006 | 0.005 | 0.004 | 0.005 | 0.005 | 0.011
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HBTH AR E B T 2% TRk 25%
4A | 5B | 6B | 7A | 8A | 9A | 10A | 11A [ 12B | 1A | 2A | 3A
FRET FEMEPRAR ABIEBAH (8 30 31 30 31 31 4 29 25 31 31 28 31
I E B (B¥RE)| 705| 730| 705 | 730| 724| 109| 713| 604| 732| 736| 663 | 735
AFEyfE (ppm) | 0.003 | 0.003 | 0.003 | 0.002 | 0.001 | 0.002 | 0.001 | 0.001 | 0.002 | 0.002 | 0.002 | 0.003
1B RAED0. 1ppm&E B 2 F=BF 12K (BFED) 0 0 0 0 0 0 0 0 0 0 0 0
B EHEA0.04ppmZEHEZ 1= A H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) | 0.023 | 0.018 | 0.021 | 0.011 | 0.008 | 0.006 | 0.014 | 0.007 | 0.009 | 0.019 | 0.009 | 0.014
BESENORSIE (ppm) | 0.009 | 0.007 | 0.012 | 0.005 | 0.004 | 0.003 | 0.003 | 0.004 | 0.003 | 0.004 | 0.004 | 0.006
2 F R BHRAEBAH q=)) 30 31 30 31 31 30 31 30 31 31 28 31
I TE B R (BeRE)| 718 | 742 | 718 | 741 | 742 | 717| 742 | 718 | 741 | 739 | 670 | 741
AEHiE (ppm) | 0.006 | 0.007 | 0.005 | 0.004 | 0.003 | 0.005 | 0.004 | 0.003 | 0.003 | 0.003 | 0.003 | 0.005
1EERAMEHY0. 1ppmZEF B X f=FER 4L (B 0 0 0 0 0 0 0 0 0 0 0 0
B EEA0.04ppmZEHEZ =B HK (B 0 0 0 0 0 0 0 0 0 0 0 0
1R EEORSIE (ppm) | 0.021 | 0.025 | 0.016 | 0.010 | 0.008 | 0.010 [ 0.011 | 0.008 | 0.011 | 0.010 | 0.011 | 0.018
BEHEORSIE (ppm) | 0.011 | 0.012 | 0.009 | 0.006 | 0.005 | 0.007 | 0.007 | 0.005 | 0.005 | 0.005 | 0.005 | 0.011
WHTH W HE T EK ABIEBAH (B 30 29 30 25 24 30 31 28 31 31 28 29
I E B (B¥RS)| 717 710| 720 606 | 596 | 720| 744 | 696 | 744 | 744 | 672 718
AEHiE (ppm) | 0.005 | 0.005 | 0.004 | 0.004 | 0.003 | 0.003 | 0.004 | 0.003 | 0.003 | 0.004 | 0.004 | 0.005
1B RRED0. 1ppm&E B 2 1= B FHI 2K (BEFED) 0 0 0 0 0 0 0 0 0 0 0 0
BT EA0.04ppmE B A 1= B E (8 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) | 0.016 | 0.018 | 0.010 | 0.008 | 0.008 | 0.008 | 0.010 | 0.006 | 0.007 | 0.008 | 0.008 | 0.013
BEYEOESE (ppm) | 0.008 | 0.008 | 0.005 | 0.006 | 0.005 | 0.005 | 0.006 | 0.004 | 0.006 | 0.005 | 0.005 | 0.008
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HBTH AR E B T 2% TR 25%
4A | 5B | 6B | 7A | 8A | 9A | 10A | 11A [ 12B | 1A | 2A | 3A
e T wHETILEGE ABIEBAH (2 27 31 30 31 31 30 31 30 31 31 28 27
I E B (BERE)| 679 742 719 744| 744 720| 744| 720| 742| 743| 672 648
AFEyfE (ppm) | 0.005 | 0.005 | 0.004 | 0.004 | 0.003 | 0.004 | 0.004 | 0.003 | 0.003 | 0.004 | 0.003 | 0.005
1B RRED0. 1ppm&E B 2 F= B FHI 2K (BFED) 0 0 0 0 0 0 0 0 0 0 0 0
B EHEA0.04ppmZEFEZ - A H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) | 0.014 | 0.016 | 0.009 | 0.009 | 0.008 | 0.009 | 0.009 | 0.009 | 0.005 | 0.008 | 0.009 | 0.014
BESEDRSIE (ppm) | 0.008 | 0.008 | 0.006 | 0.006 | 0.005 | 0.006 | 0.006 | 0.004 | 0.004 | 0.005 | 0.005 | 0.009
weHE T weE ) IE BHAEBAH q=)) 30 27 30 31 27 29 30 28 29 31 28 27
B TE B R (BeRE)| 720 683 | 718 740| 670 | 711 | 739 | 685 | 724 | 744 | 672 | 647
RFiE (ppm) | 0.006 | 0.006 | 0.005 | 0.005 | 0.004 | 0.005 | 0.005 | 0.004 | 0.004 | 0.004 | 0.004 | 0.006
1EERAMEHY0. 1ppmZEF B X f=FER 4L (B 0 0 0 0 0 0 0 0 0 0 0 0
B EEA0.04ppmZEHEZ =B HK (B 0 0 0 0 0 0 0 0 0 0 0 0
1R EEORSIE (ppm) | 0.014 | 0.016 | 0.012 | 0.011 | 0.015 | 0.011 | 0.012 | 0.008 | 0.008 | 0.010 | 0.009 | 0.016
BEHEORSIE (ppm) | 0.010 | 0.010 | 0.007 | 0.008 | 0.006 | 0.008 | 0.007 | 0.006 | 0.006 | 0.006 | 0.006 | 0.011
=Y =Y ABIEBAH q=)) 30 31 30 31 31 30 29 30 31 31 28 29
I E B (B¥RS)| 712 734| 711 | 735 | 733 | 712| 714| 711| 736| 733| 663 | 710
AEiE (ppm) | 0.001 | 0.001 | 0.001 | 0.002 | 0.001 | 0.002 | 0.002 | 0.002 | 0.002 | 0.002 | 0.002 | 0.002
1B RRED0. 1ppm&E B 2 1= B FHI 2K (BEFED) 0 0 0 0 0 0 0 0 0 0 0 0
BT EA0.04ppmE B A 1= B E (8 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) | 0.007 | 0.009 | 0.005 | 0.006 | 0.007 | 0.006 | 0.006 | 0.007 | 0.004 | 0.005 | 0.007 | 0.011
BEYEOESE (ppm) | 0.003 | 0.003 | 0.002 | 0.004 | 0.003 | 0.004 | 0.002 | 0.003 | 0.003 | 0.003 | 0.003 | 0.006
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(10) = E LB D ARRIERE R

HBTH AR E B T 2% TRk 25%
48 | 5B | 6A | 7A | 88 | 9B (10 | 1A | 12B | 1A | 2R | 3R
=Y =1kl ABIEBAH (2 30 30 30 31 31 30 31 30 31 31 28 27
I E B (BERE)| 712 735| 712 735| 736 | 713| 735| 712| 737| 736| 664 | 667
AFEyfE (ppm) | 0.002 | 0.002 | 0.001 | 0.002 | 0.001 | 0.001 | 0.001 | 0.001 | 0.002 | 0.002 | 0.002 | 0.002
1B RRED0. 1ppm&E B 2 F= B FHI 2K (BFED) 0 0 0 0 0 0 0 0 0 0 0 0
B EHEA0.04ppmZEFEZ - A H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) | 0.006 | 0.008 | 0.005 | 0.007 | 0.007 | 0.005 | 0.011 | 0.007 | 0.004 | 0.006 | 0.007 | 0.010
BESEDRSIE (ppm) | 0.005 | 0.004 | 0.003 | 0.004 | 0.003 | 0.002 | 0.002 | 0.002 | 0.002 | 0.003 | 0.003 | 0.006
O™ F—RER(ER) AMREBH q=)) 30 30 30 13 30 31 30 31 31 28 31
I TE B (BsRE) | 718 716 | 734 | 328 | 715| 744 | 717| 740 737| 670 | 740
AEHiE (ppm) | 0.005 |- 0.006 | 0.006 | 0.005 | 0.005 | 0.003 | 0.003 | 0.003 [ 0.003 | 0.003 | 0.005
1EERAMEHY0. 1ppmZEF B X f=FER 4L (B 0 |- 0 0 0 0 0 0 0 0 0 0
B FE9EA0.04ppmZEHEZ - B #K (2 0 |- 0 0 0 0 0 0 0 0 0 0
1R EEORSIE (ppm) | 0.015 |- 0.012 | 0014 | 0.012 | 0.016 | 0.010 | 0.007 | 0.006 | 0.016 | 0.008 | 0.015
BEHEORSE (ppm) | 0.009 |- 0.008 | 0.010 | 0.006 | 0.007 | 0.005 | 0.004 | 0.004 | 0.005 | 0.005 | 0.011
SO FRERCKA) AMBIEBH (2/) 30 28 30 31 13 30 30 30 31 31 28 30
I E B (BERE)| 717 693 | 719 740| 344 720| 734| 715| 738| 734| 670 733
AEHE (ppm) | 0.004 | 0.005 | 0.004 | 0.005 | 0.004 | 0.003 | 0.003 | 0.002 | 0.002 | 0.002 | 0.003 | 0.004
1B REE A0 1ppm% #8 2 1= B FEI 3% (BFfED) 0 0 0 0 0 0 0 0 0 0 0 0
B HEH0.04ppmE R A 1= B H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) | 0.012 | 0.014 | 0.011 | 0.011 | 0.010 | 0.010 | 0.010 | 0.006 | 0.005 | 0.008 | 0.008 | 0.013
BEYEOESE (ppm) | 0.007 | 0.007 | 0.007 | 0.009 | 0.005 | 0.006 | 0.005 | 0.003 | 0.003 | 0.004 | 0.005 | 0.010




(10) = E LB D ARRIERE R

OB H HERE B B TR M R
4A | 5B | 6B | 7A | 8A | 9A | 10A | 11A [ 12B | 1A | 2A | 3A
Sinkis FZRIER ) ABIEBAH (| 30 31 29 19 16 26 31 30 31 30 10 26
I E B (BERE)| 719 740| 709 | 531 | 396 | 627| 738| 718| 739 722 279 623
AFEyfE (ppm) | 0.005 | 0.010 | 0.004 | 0.004 | 0.003 | 0.004 | 0.004 | 0.003 | 0.002 | 0.003 | 0.002 | 0.006
1B RRED0. 1ppm&E B 2 F= B FHI 2K (BFED) 0 0 0 0 0 0 0 0 0 0 0 0
B EHEA0.04ppmZEFEZ - A H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) | 0.013 | 0.022 | 0.015 [ 0.013 | 0.010 | 0.020 | 0.011 | 0.011 | 0.006 | 0.013 | 0.007 | 0.016
BESEDRSIE (ppm) | 0.008 | 0.021 | 0.006 | 0.006 | 0.004 | 0.007 | 0.006 | 0.005 | 0.004 | 0.005 | 0.004 | 0.012
WA WA BHAEBAH q=)) 30 31 30 31 31 27 31 30 27 30 27 30
B TE B R (BeRE)| 710 736 | 710 734 | 734 | 653 | 728 710 | 690 | 728 | 654 | 727
RFiE (ppm) | 0.001 | 0.001 | 0.001 | 0.001 | 0.000 | 0.000 | 0.000 | 0.000 | 0.001 | 0.001 | 0.001 | 0.001
1EERAMEHY0. 1ppmZEF B X f=FER 4L (B 0 0 0 0 0 0 0 0 0 0 0 0
B EEA0.04ppmZEHEZ =B HK (B 0 0 0 0 0 0 0 0 0 0 0 0
1R EEORSIE (ppm) | 0.007 | 0.007 | 0.005 | 0.006 | 0.008 | 0.003 | 0.005 | 0.005 | 0.004 | 0.010 | 0.005 | 0.008
BEHEORSIE (ppm) | 0.003 | 0.003 | 0.002 | 0.004 | 0.002 | 0.002 | 0.001 | 0.001 | 0.001 | 0.002 | 0.002 | 0.005
WA™ E 2 b/ NS ABIEBAH (8 30 31 30 31 31 30 31 30 31 31 28 31
I E B (BRS)| 712 734| 708 | 736 | 733 | 702 | 733 | 710| 735| 735| 659 | 734
AEHiE (ppm) | 0.001 | 0.001 | 0.000 | 0.001 | 0.000 | 0.000 | 0.000 | 0.000 | 0.001 | 0.001 | 0.001 | 0.001
1B RRED0. 1ppm&E B 2 1= B FHI 2K (BEFED) 0 0 0 0 0 0 0 0 0 0 0 0
BT EA0.04ppmE B A 1= B E (8 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) | 0.006 | 0.006 | 0.004 | 0.006 | 0.007 | 0.004 | 0.004 | 0.005 | 0.004 | 0.008 | 0.005 | 0.009
BEYEOESE (ppm) | 0.003 | 0.003 | 0.001 | 0.004 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.002 | 0.002 | 0.005
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(10) = E LB D ARRIERE R

HBTH AR E B T 2% TRk 25%

4A | 5B | 6B | 7A | 8A | 9A | 10A | 11A [ 12B | 1A | 2A | 3A

¥ Nl KARTRA ABIEBAH (2 30 31 30 31 31 30 31 28 31 31 28 31
I E B (BERE)| 718 742 718 739| 742| 717| 742| 680 | 740| 725| 660 736

AFEyfE (ppm) | 0.004 | 0.004 | 0.003 | 0.003 | 0.002 | 0.003 | 0.003 | 0.002 | 0.001 | 0.002 | 0.002 | 0.003

1B RRED0. 1ppm&E B 2 F= B FHI 2K (BFED) 0 0 0 0 0 0 0 0 0 0 0 0

B EHEA0.04ppmZEFEZ - A H (8) 0 0 0 0 0 0 0 0 0 0 0 0

1FEEORSE (ppm) | 0.011 | 0.014 | 0.012 | 0.014 | 0.008 | 0.007 | 0.007 | 0.005 | 0.004 | 0.006 | 0.005 | 0.010

BESEDRSIE (ppm) | 0.007 | 0.007 | 0.005 | 0.005 | 0.004 | 0.005 | 0.004 | 0.003 | 0.002 | 0.003 | 0.003 | 0.006

ZAT ER/NER BHAEBAH q=)) 30 31 30 31 31 30 31 29 31 31 28 31
B TE B R (BeRE)| 717 740 | 717 | 741 | 739 717| 741 | 712 | 739 | 739 | 666 | 741

RFiE (ppm) | 0.004 | 0.005 | 0.004 | 0.005 | 0.004 | 0.004 | 0.003 | 0.003 | 0.003 | 0.004 | 0.004 | 0.005

1EERAMEHY0. 1ppmZEF B X f=FER 4L (B 0 0 0 0 0 0 0 0 0 0 0 0

B EEA0.04ppmZEHEZ =B HK (B 0 0 0 0 0 0 0 0 0 0 0 0

1R EEORSIE (ppm) | 0.016 | 0.018 | 0.010 | 0.012 | 0.013 | 0.010 | 0.009 | 0.010 | 0.006 | 0.008 | 0.009 | 0.017

BEHEORSIE (ppm) | 0.008 | 0.008 | 0.007 | 0.008 | 0.007 | 0.006 | 0.005 | 0.004 | 0.004 | 0.005 | 0.005 | 0.011

AN=Y INEREER ABIEBAH (B 30 31 22 31 31 29 31 30 30 30 28 24
I E B (BFRS)| 709 | 734 | 548 733 | 731 | 704| 733| 705| 730| 730| 657 613

AEiE (ppm) | 0.002 | 0.002 | 0.002 | 0.003 | 0.002 | 0.002 | 0.002 | 0.002 | 0.002 | 0.002 | 0.003 | 0.003

1B RRED0. 1ppm&E B 2 1= B FHI 2K (BEFED) 0 0 0 0 0 0 0 0 0 0 0 0

BT EA0.04ppmE B A 1= B E (8 0 0 0 0 0 0 0 0 0 0 0 0

1FEEORSE (ppm) | 0.021 | 0.012 | 0.012 | 0.011 | 0.011 | 0.008 | 0.010 | 0.006 | 0.006 | 0.008 | 0.012 | 0.012

BEYEOESE (ppm) | 0.005 | 0.005 | 0.004 | 0.006 | 0.003 | 0.004 | 0.005 | 0.004 | 0.004 | 0.004 | 0.005 | 0.009
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(10) = E LB D ARRIERE R

HBTH AR E B T 2% TRk 25%
4A | 5B | 6B | 7A | 8A | 9A | 10A | 11A [ 12B | 1A | 2A | 3A
INET kit ABIEBAH (| 29 31 30 31 28 30 31 29 29 31 28 31
I E B (B¥RE)| 695| 728 | 710 728| 696| 709 | 733| 705| 716| 728 | 656 | 733
AFEyfE (ppm) | 0.001 | 0.001 | 0.000 | 0.001 | 0.000 | 0.000 | 0.000 | 0.001 | 0.001 | 0.001 | 0.001 | 0.002
1B RRED0. 1ppm&E B 2 F= B FHI 2K (BFED) 0 0 0 0 0 0 0 0 0 0 0 0
B EHEA0.04ppmZEFEZ - A H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) | 0.018 | 0.006 | 0.003 [ 0.007 | 0.007 | 0.005 | 0.005 | 0.004 | 0.004 | 0.005 | 0.008 | 0.021
BESEDRSIE (ppm) | 0.004 | 0.003 | 0.001 | 0.004 | 0.001 | 0.002 | 0.002 | 0.002 | 0.002 | 0.002 | 0.002 | 0.007
E KT =BT ARBIEBH (B 30 31 30 31 31 30 30 28 31 31 28 31
B TE B R (BeRE)| 718 742 | 718 739 | 742 | 717| 731 | 678 | 739 | 734 | 664 | 735
RFiE (ppm) | 0.005 | 0.006 | 0.005 | 0.004 | 0.003 | 0.003 | 0.003 | 0.002 | 0.001 | 0.002 | 0.002 | 0.002
1EERAMEHY0. 1ppmZEF B X f=FER 4L (B 0 0 0 0 0 0 0 0 0 0 0 0
B EEA0.04ppmZEHEZ =B HK (B 0 0 0 0 0 0 0 0 0 0 0 0
1R EEORSIE (ppm) | 0.026 | 0.016 | 0.017 | 0.012 [ 0.010 | 0.009 | 0.012 | 0.008 | 0.005 | 0.006 | 0.009 | 0.010
BEHEORSIE (ppm) | 0.008 | 0.008 | 0.007 | 0.006 | 0.005 | 0.005 | 0.006 | 0.004 | 0.003 | 0.003 | 0.003 | 0.005
EBENT R H ABIEBAH q=)) 30 29 28 31 30 27 31 30 29 30 28 31
I E B (B¥RS)| 716 | 695| 702 738 | 733 | 659 | 739 | 717| 718 | 737| 669 | 741
AEiE (ppm) | 0.003 | 0.003 | 0.003 | 0.004 | 0.002 | 0.003 | 0.003 | 0.003 | 0.003 | 0.004 | 0.003 | 0.005
1B RRED0. 1ppm&E B 2 1= B FHI 2K (BEFED) 0 0 0 0 0 0 0 0 0 0 0 0
BT EA0.04ppmE B A 1= B E (8 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) | 0.010 | 0.009 | 0.009 | 0.013 | 0.009 | 0.008 | 0.008 | 0.007 | 0.006 | 0.016 | 0.010 | 0.017
BEYEOESE (ppm) | 0.006 | 0.006 | 0.006 | 0.010 | 0.004 | 0.005 | 0.004 | 0.004 | 0.004 | 0.006 | 0.005 | 0.010
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(10) = E LB D ARRIERE R

OB H HERE B B TR M R
4A | 5B | 6B | 7A | 8A | 9A | 10A | 11A [ 12B | 1A | 2A | 3A
FIE™ FAE W& ABIEBAH (2 30 31 30 31 31 30 30 30 31 31 28 31
I E B (B¥RS)| 718| 740| 716 | 739 741 | 718 | 736 | 714| 739| 740| 667 | 741
AEiE (ppm) | 0.006 | 0.006 | 0.005 | 0.005 | 0.004 | 0.004 | 0.005 | 0.004 | 0.004 | 0.004 | 0.004 | 0.007
1B RRED0. 1ppm&E B 2 F= B FHI 2K (BFED) 0 0 0 0 0 0 0 0 0 0 0 0
B EHEA0.04ppmZEFEZ - A H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) | 0.015 | 0.017 | 0.013 [ 0.014 | 0.009 | 0.011 | 0.013 | 0.009 | 0.007 | 0.020 | 0.010 | 0.022
BESEDRSIE (ppm) | 0.010 | 0.009 | 0.008 | 0.011 | 0.005 | 0.007 | 0.007 | 0.006 | 0.005 | 0.006 | 0.007 | 0.015
PME™ FIE™rE A B (B 30 31 30 30 31 30 30 30 31 31 28 31
B TE B R (BeRE)| 714 738| 716 | 736 | 740 | 715| 732 | 716 | 739 | 735| 663 | 731
RFiE (ppm) | 0.006 | 0.006 | 0.005 | 0.006 | 0.003 | 0.004 | 0.006 | 0.004 | 0.005 | 0.005 | 0.005 | 0.006
1EERAMEHY0. 1ppmZEF B X f=FER 4L (B 0 0 0 0 0 0 0 0 0 0 0 0
B EEA0.04ppmZEHEZ =B HK (B 0 0 0 0 0 0 0 0 0 0 0 0
1R EEORSIE (ppm) | 0.017 | 0.014 | 0.011 | 0.020 [ 0.011 | 0.016 [ 0.019 | 0.016 | 0.053 | 0.019 | 0.014 | 0.020
BEHEORSIE (ppm) | 0.011 | 0.009 | 0.007 | 0.011 | 0.005 | 0.011 | 0.008 | 0.007 | 0.014 | 0.008 | 0.007 | 0.012
mAam EARRERK ABIEBAH q=)) 30 31 30 31 29 30 31 28 31 31 28 31
I E B (B¥RS)| 716 | 742 | 718 740| 716 | 717 | 742| 676 | 740 | 728 | 665 735
AEHiE (ppm) | 0.006 | 0.007 | 0.006 | 0.005 | 0.003 | 0.004 | 0.004 | 0.003 | 0.002 | 0.003 | 0.003 | 0.003
1B RRED0. 1ppm&E B 2 1= B FHI 2K (BEFED) 0 0 0 0 0 0 0 0 0 0 0 0
BT EA0.04ppmE B A 1= B E (8 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) | 0.034 | 0.031 | 0.037 | 0.017 | 0.011 | 0.014 | 0.028 | 0.014 | 0.019 | 0.014 | 0.016 | 0.018
BEYEOESE (ppm) | 0.012 [ 0.012 | 0.012 | 0.009 | 0.005 | 0.006 | 0.008 | 0.005 | 0.003 | 0.004 | 0.004 | 0.008
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(10) = E LB D ARRIERE R

OB H HERE B B TR M R
4A | 5B | 6B | 7A | 8A | 9A | 10A | 11A [ 12B | 1A | 2A | 3A
mAam = A H R E S Al AR ABIEBAH (2 30 30 30 31 31 30 30 30 31 31 28 31
I E B (B¥RE)| 716 736 | 715| 740 737| 710| 734| 714| 739 738 666 | 740
AFEyfE (ppm) | 0.008 | 0.010 | 0.009 | 0.008 | 0.006 | 0.006 | 0.006 | 0.005 | 0.005 | 0.005 | 0.006 | 0.008
1B RRED0. 1ppm&E B 2 F= B FHI 2K (BFED) 0 0 0 0 0 0 0 0 0 0 0 0
B EHEA0.04ppmZEFEZ - A H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) | 0.032 | 0.049 | 0.048 [ 0.027 | 0.015 | 0.018 | 0.052 | 0.017 | 0.023 | 0.020 | 0.025 | 0.031
BESEDRSIE (ppm) | 0.016 | 0.015 | 0.017 | 0.014 | 0.009 | 0.008 | 0.011 | 0.008 | 0.007 | 0.008 | 0.008 | 0.015
E PN RRBRMAEREE 22— AMREBH q=)) 30 31 30 31 30 30 31 29 31 31 28 31
B TE B R (BeRE)| 716 739| 714 740| 715| 716| 739 | 710| 739 | 740 | 666 | 740
RFiE (ppm) | 0.006 | 0.007 | 0.006 | 0.007 | 0.005 | 0.005 | 0.005 | 0.005 | 0.004 | 0.005 | 0.005 | 0.007
1EERAMEHY0. 1ppmZEF B X f=FER 4L (B 0 0 0 0 0 0 0 0 0 0 0 0
B EEA0.04ppmZEHEZ =B HK (B 0 0 0 0 0 0 0 0 0 0 0 0
1R EEORSIE (ppm) | 0.019 | 0.018 | 0.015 | 0.017 | 0.013 | 0.013 | 0.016 | 0.011 [ 0.011 | 0.028 | 0.015 | 0.026
BEHEORSIE (ppm) | 0.011 | 0.012 | 0.009 | 0.012 | 0.008 | 0.008 | 0.009 | 0.007 | 0.006 | 0.008 | 0.008 | 0.015
R RARTIERTT& ABIEBAH q=)) 30 31 30 31 31 30 31 30 31 31 28 31
I E B (B¥RS)| 716 | 739 | 715( 738 | 737 715| 740 | 713 | 740 | 741 | 665| 740
AEHE (ppm) | 0.006 | 0.006 | 0.005 | 0.006 | 0.005 | 0.005 | 0.004 | 0.004 | 0.004 | 0.005 | 0.005 | 0.007
1B RRED0. 1ppm&E B 2 1= B FHI 2K (BEFED) 0 0 0 0 0 0 0 0 0 0 0 0
BT EA0.04ppmE B A 1= B E (8 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) | 0.024 | 0.015 | 0.013 | 0.017 | 0.015 | 0.012 | 0.014 | 0.009 | 0.008 | 0.010 | 0.013 | 0.022
BEYEOESE (ppm) | 0.012 | 0.010 | 0.008 | 0.013 | 0.008 | 0.008 | 0.008 | 0.006 | 0.005 | 0.007 | 0.007 | 0.014
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(10) = E LB D ARRIERE R

OB H HERE B B TR M R
4A | 5B | 6B | 7A | 8A | 9A | 10A | 11A [ 12B | 1A | 2A | 3A
REHM REMEA ABIEBAH (8 30 20 4 31 31 30 31 29 31 31 28 31
I E B (B¥RS)| 718| 486 | 104 | 740| 739 | 719| 743 | 713| 742| 744 | 667 | 741
AEyiE (ppm) | 0.005 | 0.006 | 0.005 | 0.006 | 0.004 | 0.004 | 0.003 | 0.003 | 0.003 | 0.003 | 0.003 | 0.004
1BFRAED0. 1ppm&E B 2 F=BF I 2K (BFED) 0 0 0 0 0 0 0 0 0 0 0 0
B EHEA0.04ppmZEHEZ 1= A H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) | 0.018 | 0.015 | 0.009 | 0.015 | 0.010 | 0.009 | 0.008 | 0.007 | 0.006 | 0.011 | 0.008 | 0.013
BESEORSIE (ppm) | 0.009 | 0.009 | 0.006 | 0.011 | 0.005 | 0.006 | 0.004 | 0.004 | 0.004 | 0.004 | 0.005 | 0.010
RIRTEEEIIR | BN AREBH (8) 30 31 30 31 31 30 31 30 31 31 27 31
I TE B (BERE)| 717| 742| 712 742 739| 715| 740| 718 | 738| 742 664 | 737
AFEiE (ppm) | 0.006 | 0.006 | 0.005 | 0.005 | 0.004 | 0.005 | 0.004 | 0.004 | 0.003 | 0.003 | 0.003 | 0.005
1B REEAN0.1ppmZERE X F=FEREI %K (B 0 0 0 0 0 0 0 0 0 0 0 0
B EEA0.04ppmZEHEZ =B HK (B 0 0 0 0 0 0 0 0 0 0 0 0
1R EEORSIE (ppm) | 0.024 | 0.030 | 0.018 | 0.024 | 0.012 | 0.011 | 0.013 | 0.009 | 0.009 | 0.011 | 0.011 | 0.019
BEHEORSIE (ppm) | 0.011 | 0.012 | 0.008 | 0.009 | 0.007 | 0.008 | 0.007 | 0.005 | 0.005 | 0.004 | 0.005 | 0.012
RIRTESK | B2 IE/ DR ABIEBAH (2) 30 31 30 31 30 29 31 30 29 31 27 31
I E B (B¥RE)| 716 742 717| 740| 725| 704| 740| 711| 721 | 743| 650 736
AEyiE (ppm) | 0.005 | 0.006 | 0.004 | 0.005 | 0.003 | 0.003 | 0.003 | 0.002 | 0.002 | 0.003 | 0.002 | 0.004
1EFRRED0. 1ppm&E B 2 1= BFFHI 2K (BFED) 0 0 0 0 0 0 0 0 0 0 0 0
B EHEA0.04ppmZEHEZ 1= A H (8 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) | 0.019 | 0.021 | 0.018 | 0.023 | 0.015 | 0.010 | 0.013 | 0.010 | 0.008 | 0.010 | 0.008 | 0.021
BEYEOESE (ppm) | 0.009 | 0.010 | 0.007 | 0.010 | 0.006 | 0.005 | 0.006 | 0.004 | 0.003 | 0.005 | 0.005 | 0.010
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(10) = E LB D ARRIERE R

HBTH AR E B T 2% TR 25%
4A | 5B | 6B | 7A | 8A | 9A | 10A | 11A [ 12B | 1A | 2A | 3A
Edm Zom&m ABIEBAH (2 30 31 30 31 31 30 31 30 31 31 27 29
I E B (BERE)| 716 | 742 717 741 742 716| 742| 718| 741 | 739| 666 | 727
AFEyfE (ppm) | 0.005 | 0.005 | 0.004 | 0.003 | 0.002 | 0.004 | 0.004 | 0.003 | 0.003 | 0.003 | 0.003 | 0.004
1B RRED0. 1ppm&E B 2 F= B FHI 2K (BFED) 0 0 0 0 0 0 0 0 0 0 0 0
B EHEA0.04ppmZEFEZ - A H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) | 0.015 | 0.015 | 0.010 | 0.007 | 0.009 | 0.009 | 0.009 | 0.007 | 0.006 | 0.008 | 0.008 | 0.012
BESEDRSIE (ppm) | 0.009 | 0.008 | 0.007 | 0.005 | 0.004 | 0.006 | 0.005 | 0.005 | 0.004 | 0.005 | 0.005 | 0.009
gz We H 7 2 B HI PR AMREBH q=)) 29 28 30 31 30 26 29 26 30 28 13 17
B TE B R (BeRE)| 711 | 700 | 720 744 | 728 | 650 | 719 | 644 | 724 | 687 | 320 440
RFiE (ppm) | 0.006 | 0.006 | 0.004 | 0.004 | 0.003 | 0.004 | 0.004 | 0.003 | 0.004 | 0.005 | 0.005 | 0.007
1EERAMEHY0. 1ppmZEF B X f=FER 4L (B 0 0 0 0 0 0 0 0 0 0 0 0
B EEA0.04ppmZEHEZ =B HK (B 0 0 0 0 0 0 0 0 0 0 0 0
1R EEORSIE (ppm) | 0.019 | 0.016 | 0.010 | 0.011 | 0.009 | 0.009 | 0.012 | 0.007 | 0.008 | 0.011 | 0.010 | 0.016
BEHEORSIE (ppm) | 0.011 | 0.009 | 0.006 | 0.008 | 0.006 | 0.006 | 0.006 | 0.005 | 0.005 | 0.006 | 0.007 | 0.010
=Y S TR ABIEBAH q=)) 30 31 30 31 29 30 31 30 31 31 28 31
I E B (BRS)| 712 737| 711 736| 709 | 711 | 736 | 710| 737| 734| 663 735
AEiE (ppm) | 0.003 | 0.003 | 0.002 | 0.003 | 0.002 | 0.002 | 0.002 | 0.002 | 0.002 | 0.002 | 0.002 | 0.003
1B RRED0. 1ppm&E B 2 1= B FHI 2K (BEFED) 0 0 0 0 0 0 0 0 0 0 0 0
BT EA0.04ppmE B A 1= B E (8 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) | 0.008 | 0.009 | 0.006 | 0.006 | 0.008 | 0.006 | 0.005 | 0.006 | 0.011 | 0.006 | 0.006 | 0.012
BEYEOESE (ppm) | 0.005 | 0.004 | 0.003 | 0.005 | 0.004 | 0.003 | 0.003 | 0.003 | 0.003 | 0.004 | 0.003 | 0.006
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(10) = E LB D ARRIERE R

HBTH AR E B T 2% TRk 25%
4A | 5B | 6B | 7A | 8A | 9A | 10A | 11A [ 12B | 1A | 2A | 3A
WA™ F iR ABIEBAH (2 30 31 30 31 31 25 31 30 31 31 28 31
I E B (B¥RE)| 709 | 735| 709 | 735| 733 | 612 733| 709| 735| 735| 662 735
AFEyfE (ppm) | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.001 | 0.002
1B RRED0. 1ppm&E B 2 F= B FHI 2K (BFED) 0 0 0 0 0 0 0 0 0 0 0 0
B EHEA0.04ppmZEFEZ - A H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) | 0.006 | 0.006 | 0.004 | 0.006 | 0.006 | 0.005 | 0.005 | 0.005 | 0.003 | 0.010 | 0.005 | 0.009
BESEDRSIE (ppm) | 0.003 | 0.003 | 0.002 | 0.003 | 0.002 | 0.002 | 0.002 | 0.002 | 0.001 | 0.002 | 0.002 | 0.005
E SN Tl ERRHREFERE VS — | EDAEB# (8) 30 31 30 31 30 30 31 30 31 31 28 30
I TE B (BERE)| 716| 739 | 716| 740| 731 | 716| 739| 714| 740| 740| 666 | 731
AFEE (ppm) | 0.006 | 0.007 | 0.006 | 0.007 | 0.005 | 0.005 | 0.005 | 0.005 | 0.005 | 0.006 | 0.005 | 0.006
1EERAMEHY0. 1ppmZEF B X f=FER 4L (B 0 0 0 0 0 0 0 0 0 0 0 0
B EEA0.04ppmZEHEZ =B HK (B 0 0 0 0 0 0 0 0 0 0 0 0
1R EEORSIE (ppm) | 0.016 | 0.019 | 0.016 | 0.017 [ 0.013 | 0.011 [ 0.015 | 0.010 | 0.009 | 0.017 | 0.012 | 0.023
BEHEORSIE (ppm) | 0.011 | 0.012 | 0.009 | 0.013 | 0.008 | 0.008 | 0.008 | 0.007 | 0.006 | 0.008 | 0.008 | 0.014
o B T (] 3% 7 R B ABIEBAH q=)) 29 31 30 31 31 30 31 30 31 31 28 31
I E B (BRS)| 699 | 728 | 706 | 730 | 729 | 706 | 729 | 705| 729| 727| 659 728
AEiE (ppm) | 0.002 | 0.002 | 0.002 | 0.003 | 0.002 | 0.002 | 0.002 | 0.002 | 0.003 | 0.003 | 0.003 | 0.004
1B RRED0. 1ppm&E B 2 1= B FHI 2K (BEFED) 0 0 0 0 0 0 0 0 0 0 0 0
BT EA0.04ppmE B A 1= B E (8 0 0 0 0 0 0 0 0 0 0 0 0
1FEEORSE (ppm) | 0.011 | 0.009 | 0.008 | 0.009 | 0.008 | 0.007 | 0.007 | 0.006 | 0.007 | 0.014 | 0.009 | 0.013
BEYEOESE (ppm) | 0.006 | 0.004 | 0.003 | 0.006 | 0.003 | 0.004 | 0.004 | 0.004 | 0.004 | 0.005 | 0.005 | 0.009
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